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MathConceptition

2023

Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

4. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

5. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 11+3=2 [1%]
2) 12+6=2? [1%]
3) 18+17=2? [1%]
4 20-19=2 [1%]
5 16-9=2 [1%]
6) 6+7+15=7? [1%]
7 3+16+9=2 [1%]
8 2+7+18=7? [1%]
9) 48-14-5=2 [1%]
10) 27-13-6=7 [1%]
11) 34-16-8=2? [1%]
12) 16+16-17=2? [1%]
13) 15+36-22="7? [1%]
14) 35-16+2="7? [1%]
15) 53-23+10-25=7 [1%]
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16) Find the missing number in the pattern. [2%]

FRIBRAEE > fRifmr EAVET -

23, 2 , 17,14, 11, 8,5, ...

17)  Find the missing number. [2.1%]

Hifsgy EAVEE -

56 -8=_7 —12
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18) How many circles are there in the figure below? [2.2%]

NEHA 2 EER 2

— \\
N
19) At least how many are needed to build the solid below? [2.3%]

I LA N A VAR e
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20) Find the length of the shortest path from Home to Castle. [2.4%]
SKIE K E I EEH f IR SR -
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21) Fill in “+” or “~" in each box to make the calculation valid. [2.5%]

(Write only the symbols in a correct order on the answer sheet)

FEITRE RS T+ BT - [T -
(AFRTFHIERFHAESER)
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22) Ifeach © and ¢ represents a number, 0= ] [2.6%]
ME © KO ERF—(HET > 0= o

© +4=11
©-0=4

23) A bakery had 32 croissants originally. After selling 15 croissants in  [2.7%]
the morning, the baker made 12 more. Then, the shop staff ate some
of them and there are 14 croissants left. How many croissants did
the staff eat?

—FAEEFA 32 {E4Aa - B EE T ISEFAEE > e
BB A 1 12 » 281% » [ERMZ T 2P —E8 > FT 14
At - EEME T2 EF A 7
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24) A teacher is assigning his students into groups. The first student [2.8%]
goes to group 1, the second goes to group 2, the third goes to group
3, the fourth goes to group 1, the fifth goes to group 2, the sixth
goes to group 3, and so on. Which group does the 28" student go
to?

LR R HYEE A STAH - BSR4 FSE 140 H{E 2]
52480 F=AETEISE 34 - BUUES T 141 > SSAETE]
5 280 0 SBNEE] 3 H o RIS © 5 28 (BSR4 ¢ ACE]
UE—4H 7

25)  Which of the following boxes is the lightest? [2.9%]
Write down the letter only.

LU RS 7 5Eg 7 HAFEE M UERIFE): -

D
D A
A B B D A
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26) How many even numbers are there from 11 to 59? [3%]

11 28 59 o1 » HAg 2/ DR 2

27)  The sum of five different numbers is 60. If all five numbers are [3.1%)]

greater than 0, find the largest possible number among these five

numbers.

TLEA [EIHVEF Z MR 60 © AIFREFTANARS 0 - KL {E % o
ARV -
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28) Johnny is on the 13 floor of a building and he wants to go to the ~ [3.2%]
5% floor. If there are 11 stairsteps between each floor, how many
stairsteps does he have to walk?

[elsifE RIEHY 13 18 > MAEUER] 5 1% - AIREE 2 A 11 it
o i — R EE X DA ?

29) Bobby is queuing for fried chicken. There are 8 people behind him  [3.3%]
and 13 people in front of him. 5 people have just left, how many

people are there in the queue now?

ANEFEHEREXERE - CHE 8 ([ ASEMIRE - 13 ([EASHEMM
A - 5 8 ABEBHRR(ER - BAE—HE LD NAEFHR 7
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30) How many squares are there in the below figure? [3.4%]

NE IR S D EETT

31) 25" February, 2020 is a Tuesday. Which day of the week is [4%]
2" March, 2020?

20204F2 H 25 HEEHI— - 20204E 3 A 2 H 2 EHi%% 2
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32)

20 years later, Katy will be 27 years old. Her brother is 2 years [4.1%]
younger than her. What was the sum of their ages 3 years ago?

5255 20 FIRTE 27 Bk - MIVEEELA N 2 5% - 3 AT > MY
R HEZ D ?

33)

In a boardgame, there are 50 black pieces and 50 white pieces. In [4.2%]
each round, replace 5 white pieces by black pieces. If there are still

white pieces on the checkerboard, replace 2 black pieces by white

pieces. How many rounds are needed to turn all pieces into black?

S o EHAR EOYERIBRIIE L - 2 BRI SRR L - A
PEILAY E AT IO S B 5/ [ & 2
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34) Bobby’s clock rings every 20 minutes. It rings for the first time at [4.3%]
7 a.m.. How many times does it ring from 7 a.m. to 11 a.m.?

/BRI 20 A3 4R 1 0 - P TIEIESEEE 1 X
FH_EAP B IR S R — i TF SRR T %0 2

35)  What is the units digit of 2+ 4 + 6+ 8 + -+ + 74+ 76 ? [4.4%]

2+4+6+8+ -+ 74+ 76 IEALEZ/D ?
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36) Thomas has 105 chocolates. He eats 3 chocolates on the first day [4.5%]
and 4 chocolates on the second day. In each of the following days,
the number of chocolates he eats is the sum of the number of
chocolates eaten in the previous two days. How many days will
Thomas take to eat all the chocolates?

/NBA 105 RIF5 5] » 55— KRGz 3Ry ] > S RElz
AR5 ] 2R —RIZHET 5  JJBEHEAT 2 HEEZA
o [INBREH /DR A REIE T A RIS 7 JIZ5E

37) Choose three points to form a triangle, how many triangles canbe  [4.6%)]

drawn from the points in the figure?

FIFH =REE R —(E =1 - BT RVRE % r LIE 2/ D E =
it 2
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38) Andy and 4 other children form a queue. If Andy is always the third [4.7%]
person in the queue, how many different ways can they line up?

ANBHRT 4 (&l NMZAEFER - AR/ NSRS = A - M3
2/ DA FEIHYITTEA ?

39) Find the missing number in the pattern. [4.8%]

FRIBAAEE > PRttt BAVET -

53t1=6
43%2=10
33t4=16

8It33t2=27%t2=156
2353 10=_2_
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40) In atown, there are only 2 types of residents: those who only tell [4.9%]
the truth and those who only tell lies. 150 residents fill out a
questionnaire. Below are the results of the questionnaire.
How many residents always lie?

HeEHAA 2 HEER - HERESA AR A © 150 ZfER
e T — 3G o LT BEERTEHAVEER -
HEtarAEERAZ/ A ?

Question Number of answer “Yes”
R B "= VEHE

Are you under 18 years old? 63
el A e 185k ?

Are you between 18 — 35 years old? 45

el 18 =355 7

Are you between 36 — 65 years old? 59

& 36 — 65 5% ?

Do you have kids? 7
FEEH/INZ?

Are you over 65 years old? 75

IRIE S 65 L ?

End of paper
e
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